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HOMEWORK...
p. 221:  #1, #2, #4 and #6 
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Applications...Apply your skills to a context
EXAMPLE #2:  

Malia and Lainey are competing in a spelling quiz.  Malia gets a point 
for every word she spells correctly.  Lainey is younger than Malia, so 
she gets 3 points for every word she spells correctly plus one bonus 
point.  What combination of correctly spelled words for Malia and Lainey 
result in Malia scoring more?  Choose two combinations that make 
sense and explain why.

Step 1:  Declare variables

Step 2:  State restrictions

Step 4:  Graph the solution set (MUST include labels/scales)

Step 3:  Develop the inequation

HANDOUT ­ Application of a Linear Inequality.docx
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Step 1:  Declare variables

Step 2:  State restrictions

Step 4:  Graph the solution set (MUST include labels/scales)

Step 3:  Develop the inequation
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HOMEWORK...

p. 221:  #5, 7, 8, 9, 10{
1)  Declare variables

2)  State restrictions

3)  Develop inequation

4)  Graph solution set

Worksheet ­ Applications of a Linear Inequality.pdf
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Sketch the graph of each line.


1)  x-intercept = -1, y-intercept = 3
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2)  x-intercept = -1, y-intercept = -5
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3)  2x + y = -1
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4)  18x + 3y = -9
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5)  x + 8 = -2y
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6)  -y = -3 + 2x
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7)  -x + 
5
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 + 
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y = 0
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8)  0 = -y + 5
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9)  0 = -2x - 3 + y
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10)  -y - 2 = -
3
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11)  x = -2
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12)  -3y = x - 6
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Sketch the graph of each line.


1)  x-intercept = -1, y-intercept = 3
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2)  x-intercept = -1, y-intercept = -5
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3)  2x + y = -1
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4)  18x + 3y = -9
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6)  -y = -3 + 2x
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Applications...APPLY your skills to a context

EXAMPLE #2: Malia and Lainey are competing in a spelling quiz. Malia
gets a point for every word she spells correctly . Lainey
is younger than Malia, so she gets 3 points for every
word she spells correctly, plus 1 bonus point. What
combination of correctly spelled words for Malia and
Lainey result in Malia scoring more. Choose two
combinations that make sense and explain why.

STRATEGY...

STEP 1 - Declare Variables

State Restrictions

STEP 2 - Create Linear Inequality

STEP 3 - Graph Solution Set

- must include labels/units!

- must include a scale!

STEP 4 - Answer question(s)
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